11.6 N - Solving Logarithmic Equations

A. Review
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B. Use the Properties of Logarithms and Egnents to solve equations.

e To avoid extraneous solutions, determine the domain of the variable first.

e Use the properties of logarithms and exponents to manipulate the equations.
e Try rewriting as an exponential or logarithmic function: y =log, x < x=4a'

* Remember the properties: log, M =log, N< M =N and

a" =a" < u =v (Make the bases the same).

e Check your solution by substituting into the orlgmal equatio au
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